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1.

Analysis of past monthly movements in HTC's stock price produces the followmg
estimates: o = 4.5% and B = 1.6. If the market index subsequently rises by 15% in
one month and HTC's stock price increases by 25%, what is the abnormal change
in HTC's stock price? (1)

A random walk process for a single stock consists of the toss of a fair coin at the
end of each day. If the outcome is heads, the stock price increases by 1.75%. If the
outcome is tails, the stock price decreases by 0.95%. What is the drift of such a

process? (2)

A firm produces $124 million of net income on $1,600 million of assets. Through a
six-sigma project, the firm is able to decrease the assets employed to $1,250 million.
Given a 6% cost of capital, what is the increase in the EVA (Economic Value
Added)? _ (3)

Consider a project that costs 100 and generates a single cash-flow in one year. This
cash-flow is equal to 120 with probability g or 90 with probability (1-g). The IRR
of the project is equal to 10%. Find q. 4)

The correlation coefficient between a stock and the market portfolio is 0.6. The
standard deviation of return of the stock is 30% and that of the market portfolio is

20%. Calculate the beta of the stock.__ (5)
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